3340y - 1yjeIZp BIURID

'

_ — b s ate 08's9L 679 19T o _ e R
NN = 0t ¢
_T eulfzinaJ elupnys @ 08's9L | #1791 | €9'€ |& ~ | 000 m
w
Uy y)Jodworzod _
E
yoiof ppeizp eauedd 7N\ 09'S9L 10291 67'E 0z'y m
C W M. <
| eulfzmasewpnys | i | 05591 | 66791 | 1S'E | & o0 | o
| \2J
wdTwy Yy ot worzod
E
— BUZ3.020J BlUPNYS @ 02'99L  ZE'E9L 88 0026 &
% 0oL [ 0l = <
POMO} IS 98't8l
M.
©
— Jsndazd 80'9¢
S
aludoys 44y Asesy awewerez | N\ | 0z'99L | 78790 | 8€L | & 88'
Mmoxa1s elumodwodaz.d I , , S S| 8 ,
\ n =) Loo9 | 089 | 021 |& ~ | 000 | _ |
NG 0€6Sl 0t
wdU Ty ge;Iod worzod =
0 eulfziaJ elupnis @ 1869 Z€'79L 05 00’00l S
wn 2 ¥
—— Jsndazad = 6%'GE
=3
(=3
N
eulfzinay elupnys @ 00991 | £0'29) | €61 | & 0005
wv [
3
0900 AuloL} @ ouroL | sgyoL | 22z |S o | %
091007 Aufody —~— = 0V 79 | t8191 134 S 9E Tl
®
B fuzakj3buaua Jagey - = 09'¢
S
A eulfzinal elupnys @ 0Z49L | 7819 | 8€7 |& 000 | _ |
7€091  98°E
0T W ) g5y J00 worzot =
* eulkzimal eupnys @ 0€'99L  08'€9L 05! 65769 R
w 5: 0+
—— ysndaz.d o~ €0'8£9
=3
(=3
N
091002 Hulosy @ 0E£'s9L | S9'E9L | 91 | & £0'299
— [}
=
f=ay
=3
(=3
N
* eulfzina. elupnys @ 0€'S9) | SS'e9L | St | & 95'749
%) L
= =
W Y=}
091007 Yulo4y @ 0€'s9L | Z6'e9L | 8t |& 98'S€9
[l 5:
..,Ir.
o~
<
09100z Hufosy | /SN | 0%'S9L | 8E'E9L | 207 |E 1£'809
— =)
\=J R
=3
< o
=3
(=3
N
| eulfzimas eupnys | e | 07'S9L | 0E'E9L | 017 | & £5'269
_ &) NG
* eulfzina, elupnys @ 0%'s9L | 82'¢9L | 7 | & =1 15'885
%) AS
=]
B.
o~
B amobeiopon azabyhzud m 55'899
>
091007 fulosy @ 0€'s9) | £'e9 | €'z & 61995
(=1
5;
<
3
=3
(=3
N
* eulfzinaJ elupnys @ 02's9) | S0'e9L | Sz | & 0L'z4s
wv o
=
=
.
(=3
(=3
' ' ' w '
* eulfzinay elupnys @ 0£'59) | 08'29L | 057 |& 01'z6Y
w (=3
=
(=3
(=3
' ' ' W '
euffzinaJ elupnys @ 05'S9L | §S'Z91 | S6'7 |& o'z
wn Lt
=3
5:
= .
. amoberopon az3k}hzud 092ty
S
g
09100z Hufos | o\ | 09'S9L | 89791 | u'E | & 09'tZy
—
\Z/ S
3
]
=3
(=3
N
* eulfzinal elupnys @ 18's9) | 0€'79L | 45t | & 91'26€
wv (Vg
)
~
.lln
=3
=3
(=3
N
091002 Hulosy @ 68'S9L | €229 | 99F |& IY'tE
5;
&
=)
S
N
) eulzmasepnys | o | 08'S9L | #1791 | €9€ | & 68'99¢
_ I amobEpopor sy |\ & ) N G5G9€E
3
(¥a)
m
. fuzk 3Buaua Jagey G0'9€€
S
>
eulfzinal elupnys @ 06'59L | 66'19L | 1S | & SH'LEE
%) wn
(=3
3:
o
m
-
S
' ' ' W '
eulfzinaJ elupnys @ 0€'s9L | 64191 | 15€ |& 51262
%) Lt
o
O
3:
o
o~
=3
(=3
N
091007 Hulo4 @ 0Z's9L | %9191 | 95 |& 64292
[¥a)
)
v:s
S
eulfzinay eiupnys @ 00'59) | %5191 | 9%t |& a7t
wn Lt
=)
(=3
3:
Ky
=3
(=3
N
091007 Hufo44 @ 9879, | 1919) | e |& 98'91Z
_LJ;
H.
o~
<
eulfzimas eupnys | N | 09'99L | 62191 | LEE | & GL'z6l
o/
%) L
=)
M.
=3
(=3
N
091007 Hulo44 @ 0949, | 02191 | ov'E |& 09'ELl
_LJ;
Gl
=
=3
(=3
N
eulfzinay elupnys @ 09'%9L | %091 | 95t | & [1NAL
w (=}
m
0:
S
N
0911007 Yuloy @ 5991 | 88°09L | #'E |& _ 1104
H,
= |
=3
(=3
N
eulfzinal elupnys @ 04991 | 64'091 | L6'E | & 81'6
%) L
©
8:
- =)
(=3
N
o900z U0 | " | S99l | a9l | L6’ | & 0€'18
N S
N.
~
=3
(=3
N
| eulfzinaJ elupnys \w/ So'49L | 76091 | €6’ | & 91'6€
: N 3
in
=3
(=3
BN
o0z Ao | | oe'9L | 8e'oo | 6 | & €9
\Z/ S
3
I * eulfzinaJ elupnys @ 0z'79L | 7€'09L | 98 | S _ L oze
\ —opas-agoduodaz.d @ 00'79) MMMM mwm o I I
Uy ge;Jod worzod
_ =
— [ x
5 g g
) a < 2
= c E w
= £ - B
b 2 5 E £ =
2ol gl 25| BlE 2 E
S N = T =3 ..M =5 a =
2 = & & S = = 3 =

3
AR
4|
= S|w
s [E]d]e
o
9 o
2= 2
2N 5
=9 |5 2
w | 3T 8|28 =
o |as |b|n|o
H
w
-
I
o
0 <
I| &
3 H
w 2
7 -
O | g w w
<t | o o z
Z S =
®| 3 ] >
c|u| d Qe
<
©| s ) N
— H ] -
w|>5| 4 o 513
= | w ¥ < < @ | D
Z|2| 28| 2 |g]¢
H £Eo < o |2
o Zz a|a
L < 4 X S| ®
UA no — o | ®
6| 33| © |g|¢g
~| < [Sh=) w Tl =
| 2 N D Y| ¥
- "oz z
©|l s | 2 w
C z |
N g [ =
i} [1'4 > | =
b a (B3
~— < o | >
2 5 g3
< =] €| o
o @ -
© 5| 5
E| E
s <
g
th w =
O &) Z
R_m L an N
N <
N < W
= N o
x| or < |O|N
< o| & N [E|Q
[t (%3] < X
n| O s
. W w = JM
= N N o
ﬂ S| x < x| o
Z| a -4 a|on




